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Part A

Answer any five questions. Each question carries 2 marks.

1. If \(A=\left\begin{matrix}360 & 140 & -24&\end{matrix} \right] B= \left[\begin{matrix} 20 \\
12 \\ 3 \end{matrix} \right]\) Find AB

2. A man borrowed Rs. 62,500 from a bank. After 2 years he paid Rs. 67,600 in full
settlement of his debt. Find the rate of compound interest.

3. Define regression
4. What are moving averages?
5. Give two uses of index number?

6. From a well shuffled standard pack of 52 playing cards, one card is drawn. What is the
probability that it is either a spade card or club card?

7. What is non parametric test?
(5%x2 = 10 Marks)
PartB

Answer any five questions. Each question carries 6 marks.

8. If Rs 500 amounts to Rs 583.20 in two years compounded annually, find the rate of

interest per annum.

9. Calculate the coefficients of correlation between x and y for the following data:

]X |1 IZ 3 |4 |S |6 |7 |8 |9
Y: 9 8 10 |12 |11 |13 |‘14 |16 |15
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Explain the components of time series with business examples.

Define time series. Explain the importance of analysis of time series in business
situations.

A company has two plants to manufacture scooters. Plant | manufactures 70% of the
scooters and plant [l manufactures 30%. At plant |, 80% of scooters are rated standard
quality and at plant Il, 90% of scooters are rated standard quality. A scooter is picked up
random and is found to be of standard quality. What is the chance that it has come from
(a) Plant I? (b) Plant 11?7

A sample of 400 male students of a college is found to have a mean height of 171.38 cm.
Can it be regarded as a sample from a large population with mean height 171.17 cm and
standard deviation 3.30cm?

In an anti malarial campaign in a certain area, quinine was administered to 812 persons
out of a total population of 3248. The number of fever cases is shown below:

Treatment Fever No fever Total
Quinine 20 792 812

No quinine 220 2216 2436
Total 240 3008 3248

Using chi-square test discuss the usefulness of quinine in checking malaria.

(5%6 = 30 Marks)
PartC
Answer any two questions. Each question carries 10 marks.

Question number 17 is compulsory .

Given below are the figures of production (in lakh kg.) of a sugar factory.

Year: 1999 | 2000 | 2001 | 2002 | 2003 | 2004 | 2005

Production: | 40 45 46 42 47 50 46

1. Fit a straight line trend by the least squares method and tabulate the trend.
2. Find the trend value for the year 2007.

Six dice are thrown 729 times. How many times do you expect at least three dice to show
five or six?
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Compulsory Question

A departmental store gives in service training to its salesman which is followed by a test. 24
The management is considering whether it should terminate the services of the salesman
who did not do well in the test. The following tabie gives the test scores, and the sales

made by the salesman.

Test 14 19 24 21 26 22 15 20 19
scores
Sales (in | 31 36 48 37 50 45 33 41 39,
Rs.1000)
(2x10 = 20 Marks)
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